STEEASE BENSPERAR—E

HAKZEIZEE
4 A E R 18R 28R 3FER 4R
(SHMBEE) (SHAIEE) (SH5EE) (SFGEE) =
IHH AR | #5H | 1 | #5H | 1R | #5H | iR | &5H8
A =2 £ 260,000 AEROHHA
= e # 550,000 550,000/ 550,000/ 550,000 550,000/ 550,000 550,000 550,000)%F 4 EIZEHHA

WK EREE £ 110,000 110,000 110,000 110,000 110,000 110,000/ 110,000| 110,000|& & FIZE4A

= B £ ¥ H 40,000 40,000/ 50,000/ 50,000/ 50,000 50,000 50,000 50,000
n wn e bm o BERZEMHA
T = 5 % g £ 30,000 30,000 30,000 30,000 (EZHITS)
HAXREZERKREE BEEREZEMNA
( # = B8 ) 10,000 10,000 10,000 10,000 (R IBAIT )
&t 1,000,000 700,000 750,000{ 710,000/ 750,000/ 710,000| 750,000{ 710,000

XEEDMIZ, ZFZRRABIVERRDERAESRE (MFEED) ELT, 10,000MZRFHMARICREZIREZTD,




